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827 BE-ERTHEOREHK=4DHBEDF ')A, (A=1000m*, 1200m*, 1400m*, 1600m?)
(1) 7V A& LR FEGHRE DR
Z OMEERHEFNILRTE 8.2.6 BiOMFEEMW) LU TH 5,

SP i, B FHEMEARVEE DS Tlix, A=1000m2, 1200m2, 1400m2 OFE5 D, >F VU F 2-2-(3), 2-2-
@), 2-2-B)EWFEAREIIH KD X O ICHRIWEME LR 5T 52 EntHks, £7-. 2O ORE %
2-2-@NTBL T AUEE OIS U T Bt KIROIEREE &R T 5,

—J5, A=1600m*> OHEIZIZT T U A 2-2-Q) ZMRAEAREIZ T D 12 OIZITFFRIEEMEROFF L AR
T5H, T THELYFTUA2-2-(4), 2-2-G)TED LT-FEY 22T U A4 2-2-QNTHi Sy Lz & hiudak
FHKTRIFIEFITRRE L 72 b DT 0 | B 2O ERLEL TR T 5 2 L 13O TR HIZ/R D, L,
ZHTHETT VA 22BN R D RIEEHERO FREL N 5D T, Eo%E 0 & LTHD
Tk LWEREHAKIRO T Gl 2O EREZ R T2 Z EBLEIT 2D,

Z 2T, A=1600m? DAL, U A 2-2-(4), 2-2-(OIZE LTERFRSEEMER O 2T U A
2-2-(2) & 2-2-)DFEFHKIENNT v AR FBERNTe D L oIl Sy Lz, FIZ, A=1400m? DA 1EY
F U A 2-2-B)DOMFERIE A AT TS L OB T 5D 2 LIXAHEREA, 75 LT U A 2-2-(2 D% aF AR
BEELWHDIZR DT, v U A 222 & 2-2-B)DERFHKIAD N T AREID & 5 ITHFRIEEMER
DY Z TR LT,

#8.9 EE-JTHORE=4 DGEOT T U A LARMER, FFREGHEROR Y. Rat kIR ()

. Bk R T L L AFBRER R A=1,000m? A=1,200m? A=1,400m? A=1,600m?
YFUF —— SFVF s — — —
No | sp |mTmE| B BD | g [EEED am P petiim PO ot gom [EERA] R
BRGR | REX 0.00837 0.00764 0.00707 0.00661
1-1-(1) 0 0.410 | 0.2621 0 2-2-(1) 0 2-2-(1) 0 2-2-(1) 0 2-2-(1)
1-1-(2) 1 0.410 | 0.2621 0 1-1-(5) 0 1-1-(5) 0 1-1-(5) 0 1-1-(5)
1-1-(3) fFe 2 0.154 | 0.0983 0 1-1-(5) 0 1-1-(5) 0 1-1-(5) 0 1-1-(5)
1-1-(4) 08 3 0.026 | 0.0164 0 1-1-(5) 0 1-1-(5) 0 1-1-(5) 0 1-1-(5)
1-1-(5) | A 4 0.002 | 0.0010 0 0.2t"+Qsp 0 0.2t"+Qs 0 0.2t°+Q,, 0 0.2t"+Qs,
1-2-(1) 0.8 0 0.410 | 0.0655 0 2-2-(1) 0 2-2-(1) 0 2-2-(1) 0 2-2-(1)
1-2-(2) 1 0.410 | 0.0655 0 1-2-(5) 0 1-2-(5) 0 1-2-(5) 0 1-2-(5)
1-2-(3) T\fjﬂ 2 0.154 | 0.0246 0 1-2-(5) 0 1-2-(5) 0 1-2-(5) 0 1-2-(5)
1-2-(4) ’ 3 0.026 | 0.0041 0 1-2-(5) 0 1-2-(5) 0 1-2-(5) 0 1-2-(5)
1-2-(5) 4 0.002 | 0.0003 0 0.28°+Q,, 0 0.287+Q,, 0 0.28°+Q,, 0 0.28°+Q,
2-1-(1) 0 0.410 | 0.0655 0 2-2-(1) 0 2-2-(1) 0 2-2-(1) 0 2-2-(1)
2-1-(2) 1 0.410 | 0.0655 0 2-1-(5) 0 2-1-(5) 0 2-1-(5) 0 2-1-(5)
2-1-(3) fFm 2 0.154 | 0.0246 0 2-1-(5) 0 2-1-(5) 0 2-1-(5) 0 2-1-(5)
2-1-(4) 08 5 | ooze | oo0ar | o | 2109 0o | 210 0o | 210 o | 216
2-1-(5) | s 4 0.002 | 0.0003 0 0.2t24Q, 0 0.2t24+Q,, 0 0.2£24+Q,, 0 0.2£2+Q,
2-2-(1) 0.2 0 0.410 | 0.0164 0 0.224+Qy 0 0.22+Q., 0 2-2-(2) 0 2-2-(2)
2-2-(2) e 1 0.410 | 0.0164 |0.00113 [0.0222t°+Q,,| 0.0004 |0.0369t*+Q,,| 0.00403 | 0.022t°+Q,, | 0.0036 |0.0244t°+Q,,
2-2-(3) 0.2 2 0.154 | 0.0061 | 0.0061 — 0.0061 — 0.0020 {0.0171t°+Q,,| 0.0019 [0.0173t*+Q,,
2-2-(4) 3 0.026 | 0.0010 | 0.0010 — 0.0010 — 0.0010 — 0.0010 —
2-2-(5) 4 0.002 | 0.0001 | 0.0001 — 0.0001 — 0.0001 — 0.0001 —
= 1.0 |0.00837 0.00764 0.00707 0.00661
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